120 + — Hela-Vpu cell control 80 ] = Hela cell control
100 =Hela-Vpu + 5uM 2-thi076-azauridi_né 70 4 = Hela + 5uM 2-thio-6-azauridine
=Hela-Vpu + 0.5uM 2-thio-6-azauridine 3 = Hela + 0.5uM 2-thio-6-azauridine
==Hela-Vpu + 0.05uM 2-thio-6-azauriding 60 - = Hela + 0.05uM 2-thio-6-azauriding
2 80 —Hela- E wso
2 Hela-Vpu + DMSO i) 50 4 == Hela + DMSO
S 5 ]
° 3
S 601 G 40 3
404 30 3
20 3
20 4 ]
10 4
04 04
10° 10° 10 10° 10° 100 10° 102 10° 10°

fluorescence intensity

Figure S1

fluorescence intensity



